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1. Choose the word that can
substitute the given group of
words.
A speech made without
preparation
(1) Parable (2) Eulogy
(3) Extempore (4) Chronicle

2. Fill in the blank with an
appropriate option.
Your ear has three main ______
outer, middle and inner.
(1) parts (2) subjects
(3) plugs (4) events

3. Select the correct indirect form
of the given sentence.
Lee said to his wife, "I am very
happy today."
(1) Lee told his wife that he was

very happy today.
(2) Lee told his wife that he has

been very happy that day.
(3) Lee told his wife he was very

happy today.
(4) Lee told his wife that he was

very happy that day.
4. Rearrange the parts of the

sentence in correct order.
P. bendable electronics and

sensing technologies
research

Q. people using "aerohaptics",
creating feelings of touch
with jets of air

R. my colleagues and I working
in the University of Glasgow's

S. group have now developed a
system of holograms of

(1) QPSR (2) RPSQ
(3) PQRS (4) SRQP

5. Choose the incorrectly spelt
word.
(1) Morning (2) Washing
(3) Calling (4) Burnig

6. Find the part of the given
sentence that has an error in
it. If there is no error, choose 'No
error'.
Its impossible to conduct truly
causal research on media
consumption and suicide.
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(1) Its impossible to conduct

(2) media consumption and
suicide.

(3) No error

(4) truly causal research on

7. Choose the word that can
substitute the given group of
words.

Exaggerated claims, not meant
to be taken seriously

(1) Hyperpyrexia

(2) Hyperbole

(3) Hypergamy

(4) Hyperreal

8. Select the correct passive form
of the given sentence.

The child locked the shutters.

(1) The shutters were locked
by the child.

(2) The shutters are locked by
the child.

(3) The shutters would be
locked by the child.

(4) The shutters had been
locked by the child.

9. Find the part of the given
sentence that has an error in
it. If there is no error, choose 'No
error'.

What is the price of this fancy
dress pink?

(1) fancy dress pink?

(2) No error

(3) price of this

(4) What is the

10. In the following question, out of
the given four alternatives,
select the alternative which best
expresses the meaning of the
Idiom/Phrase.

As hard as nails

(1) To be stubborn

(2) To feel no pain

(3) Physically or mentally tough

(4) Hard working

Exam Time:- 5:15 PM – 6:15 PM

11. Choose the sentence with no
spelling error.
(1) These componants can

work independently.
(2) These components can

work indepedently.
(3) These components can

work independently.
(4) These components can

wrok independently.
12. Improve the underlined part of

the sentence. Choose 'No
improvement' as an answer if the
sentence is grammatically
correct.
The number of women working
outside homes has been steady
increasing.
(1) has been steadily
(2) had been steadier
(3) No improvement
(4) have been steady

13. Fill in the blank with the most
suitable word.
The ____________ heard that the
relationship was stormy and had
broken up several times.
(1) inquiry (2) impute
(3) inordinate (4) impugn

14. Select the word that is opposite
in meaning (ANTONYM) to the
word given below.
Fret
(1) Anxious (2) Anguish
(3) Relax (4) Pine

15. In the following question, out of
the given four alternatives, select
the alternative which best
expresses the meaning of the
Idiom/Phrase.
The whys and wherefores
(1) References
(2) Circumstances
(3) Requirements
(4) Reasons

16. Choose the word that means the
same as the given word.
Enigmatic
(1) Literate (2) Grumpy
(3) Illiterate (4) Mysterious
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17. Select the word that is closest
in meaning (SYNONYM) to the
word given below.
Decimate
(1) mend (2) wreck
(3) harbour (4) establish

18. Fill in the blank with the most
suitable word.
The humour of the gods is cruel;
or _____ they see more than we
do.
(1) unlikely (2) odds
(3) perhaps (4) however

19. Improve the underlined part of
the sentence. Choose 'No
improvement' as an answer if
the sentence is grammatically
correct.
I didn't have times to watch the
whole movie.
(1) time to watch
(2) timer to watched
(3) time to watching
(4) No improvement

20. Choose the word that means the
same as the given word.
Oblate
(1) Mendicant (2) Heathen
(3) Layperson (4) Secular

Comprehension: In the following
passage some of the words have
been deleted. Read the passage
carefully and select the correct
answer for the given blank out of the
four altematives.
According to the Integrated
Taxonomic Information System
(ITIS) there are more than 60 (1) of
rat, which means they come in all
sizes. They are (2) 5 inches (12
centimeters), or longer, according to
Encyclopedia Britannica. The
largest species is the Bosavi woolly
rat, which was (3) in 2009 in the
rainforest of Papua New Guinea (and
doesn't have a scientific name yet).
It is (4) the size of a cat-32.2 inches
(82 cm) from nose to tail and (5)
around 3.3 lbs. (1.5 kilograms),
according to CNN.
21. Select the most appropriate

option to fill in blank number 1.
(1) entities (2) sections
(3) species (4) objects

22. Select the most appropriate
option to fill in blank number 2.
(1) modestly (2) manually
(3) typically (4) surgically

23. Select the most appropriate
option to fill in blank number 3.

(1) discovered (2) invented
(3) denuded (4) screened

24. Select the most appropriate
option to fill in blank number 4.
(1) a lot (2) of
(3) about (4) some

25. Select the most appropriate
option to fill in blank number 5.
(1) evaluates (2) weighs
(3) counts (4) measures

1. In the following question, select
the odd letter/letters from the
given alternatives.

fuEufyf•r ç'u esa fn, x, fodYiksa esa ls
fo"ke v{kj@v{kjksa dks pqfu,A
(1) GJJL (2) EHHK

(3) ADDG (4) VYYB

2. Select the option in which the
numbers shares the same
relationship in set as that
shared by the numbers in the
given set. (NOTE: Operations
should be performed on the
whole numbers, without
breaking down the numbers into
its constituent digits. E.g. 13
Operations on 13 such as adding
/subtracting /multiplying etc. to
13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)

ml fodYi dk p;u djsa ftlesa la[;k,¡ lsV
esa ogh laca/ lk>k djrh gSa tks fn, x, lsV
esa la[;kvksa }kjk lk>k fd;k tkrk gSA (è;ku
nsa% la[;kvksa dks muds ?kVd vadksa esa foHkkftr
fd, fcuk] iw.kZ la[;kvksa ij lafØ;k,¡ dh
tkuh pkfg,A mnkgj.k ds fy, 13 ij 13
lafØ;k,¡ tSls 13 esa tksM+uk@?kVkuk@xq.kk djuk
vkfn fu"ikfnr dh tk ldrh gSaA 13 dks 1
vkSj 3 esa foHkkftr djuk vkSj rc 1 vkSj 3
ij xf.krh; lafØ;k,¡ djus dh vuqefr ugha
gS)
(14, 17, 970)

(15, 23, 1508)

(1) (17, 24, 1730)

(2) (16, 22, 1580)

(3) (18, 32, 2686)

(4) (19, 31, 2642)

3. Select the option figure in which
the given figure is embedded.
(rotation is NOT allowed)

ml fodYi vkÑfr dk p;u djsa ftlesa nh
xbZ vkÑfr lfUufgr gSA (jksVs'ku dh vuqefr
ugha gS)

(1) (2)

(3) (4)

4 In a certain code language,
'BOLT' is coded as '2965', 'DOLE'
is coded as '5723', 'TADY' is
coded as '0368', 'MASB' is coded
as '4819'. What is the code for
'BTO' in that code language?

,d fuf'pr dwV Hkk"kk esa] 'BOLT' dks
'2965'] 'DOLE' dks '5723'] 'TADY'

dks '0368'] 'MASB' dks '4819' ds :i
esa dwfVr fd;k tkrk gSA mlh dwV Hkk"kk esa
'BTO' ds fy, dwV D;k gS\
(1) 962 (2) 865
(3) 482 (4) 958

5. Select the option figure in which
the given figure is embedded.
(rotation is NOT allowed)

ml fodYi vkÑfr dk p;u djsa ftlesa nh
xbZ vkÑfr lfUufgr gSA (jksVs'ku dh vuqefr
ugha gS)

(1) (2)

(3) (4)

6. If 'P' means 'x', 'Q' means '+', 'R'
means ÷ and 'S' means '-', then

;fn 'P' dk vFkZ 'x'] 'Q' dk vFkZ '+'] 'R'

dk vFkZ ÷ vkSj 'S' dk vFkZ '-'] rks
56 R8 Q13 S 42 R 21 P 5 =?
(1) 12 (2) 2.8
(3) 24 (4) 10
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7. Select the figure from the given
options that can replace the
question mark (?) in the
following series.

fn, x, fodYiksa esa ls ml vkÑfr dk p;u
djsa tks fuEufyf•r J`a•yk esa ç'u fpÉ
(\) dks çfrLFkkfir dj ldrh gSA

(1) (2)

(3) (4)

8. In the following question, select
the odd word pair from the given
alternatives.

fuEufyf•r ç'u esa fn, x, fodYiksa esa ls
fo"ke 'kCn ;qXe dks pqfu,A
(1) Write - Pen
(2) Magnify-Microscope
(3) Dig- Spade
(4) Gun Shoot

9. In the following question, select
the related letters from the given
alternatives.

fuEufyf•r ç'u esa fn, x, fodYiksa esa ls
lacaf/r v{kjksa dks pqfu,A
EI: DF :: HM :?
(1) ZJ (2) GJ
(3) ST (4) LT

10. If a mirror is placed on the line
AB, then out of the option figures
which figure will be the right
image of the question figure?

;fn js•k AB ij ,d niZ.k j•k tk,] rks nh
xbZ fodYiksa esa ls dkSu&lh vkÑfr ç'u vkÑfr
dk lgh çfrfcEc gksxh\

(1) (2)

(3) (4)

11. In the following question, four
number pairs are given. In each
pair the number on left side of (-
) is related to the number of the
right side of (-) with some Logic/
Rule /Relation. Three pairs are
similar on basis of same Logic/
Rule/Relation. Select the odd
one out from the given
alternatives. (NOTE: Operations
should be performed on the
whole numbers, without
breaking down the numbers into
its constituent digits. E.g.13 -
Operations on 13 such as adding
/subtracting multiplying etc. to
13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)
fuEufyf•r ç'u esa pkj la[;k ;qXe fn, x,
gSaA çR;sd tksM+h esa (&) ds ckbZa vksj dh
la[;k (&) ds nkbZa vksj dh la[;k ls dqN
rdZ@fu;e@laca/ ds lkFk lacaf/r gSA leku
rdZ@fu;e@laca/ ds vk/kj ij rhu tksM+s leku
gSaA fn, x, fodYiksa esa ls fo"ke dks pqfu,A
(è;ku nsa% la[;kvksa dks muds ?kVd vadksa esa
foHkkftr fd, fcuk] iw.kZ la[;kvksa ij lafØ;k,¡
dh tkuh pkfg,A mnkgj.k 13 & 13 ij
lafØ;k,¡ tSls 13 dks tksM+uk@?kVkuk] xq.kk
djuk vkfn fu"ikfnr fd;k tk ldrk gSA 13
dks 1 vkSj 3 esa rksM+uk vkSj rc 1 vkSj 3 ij
xf.krh; lafØ;k,¡ djus dh vuqefr ugha gS)
(1) 24-575 (2) 14 197
(3) 12-145 (4) 18-325

12. Arrange the given words in the
sequence in which they occur
in the dictionary.
fn, x, 'kCnksa dks 'kCndks'k esa vkus okys Øe
esa O;ofLFkr djsaA
1. Manger
2. Mango
3. Mangrove
4. Manage
5. Manager
(1) 4, 5, 3, 2, 1 (2) 4, 5, 1, 2, 3
(3) 4, 5, 3, 1, 2 (4) 4, 5, 1, 3, 2

13. In the following question below
are given some statements
followed by some conclusions
based on those statements.
Taking the given statements to
be true even if they seem to be

at variance from commonly
known facts. Read all the
conclusions and then decide
which of the given conclusion
logically follows the given
statements.

uhps fn, x, ç'u esa dqN dFku fn, x, gSa
vkSj mu dFkuksa ds vk/kj ij dqN fu"d"kZ fn,
x, gSaA fn, x, dFkuksa dks lR; ekuuk Hkys
gh os loZKkr rF;ksa ls fHkUu çrhr gksrs gksaA
lHkh fu"d"kks± dks i<+sa vkSj fiQj r; djsa fd
fn, x, fu"d"kks± esa ls dkSu lk fu"d"kZ rkfdZd
:i ls fn, x, dFkuksa dk vuqlj.k djrk gSA

Statements/dFku:

I. All Fruits are Vegetables./lHkh
iQy lfCt;ka gSaA

II. All Vegetables are Almond./

lHkh lfCt;ka cknke gSaA
Conclusions

I. Some Vegetables are Fruits./

dqN lfCt;ka iQy gSaA
II. All Almond are Vegetables./

lHkh cknke lfCt;ka gSaA
III. Some Fruits are Almond./

dqN iQy cknke gSaA
(1) Both conclusions II and III

follows/nksuksa fu"d"kZ II vkSj III

vuqlj.k djrs gSa

(2) All conclusion follows/lHkh
fu"d"kZ vuqlj.k djrs gSa

(3) Both conclusions I and II

follows/nksuksa fu"d"kZ I vkSj II vuqlj.k
djrs gSa

(4) Both conclusions I and III

follows/nksuksa fu"d"kZ I vkSj III vuqlj.k
djrs gSa

14. In the following question, select
the missing number from the
given series.

fuEufyf•r ç'u esa] nh xbZ J`a•yk eas yqIr
la[;k dk p;u djsaA
10, 10, 20, 60, 240,?

(1) 1150 (2) 1400

(3) 1200 (4) 1440

15. Words given on the left side of
(::) are related with each other
by some Logic/Rule /Relation.
Select the missing word/word
pair on the right side of (::) from
the given alternatives based on
the same Logic/Rule/Relation.

(%%) ds ckbZa vksj fn, x, 'kCn vkil esa
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fdlh rdZ@fu;e@laca/ ls lacaf/r gksrs gSaA
leku rdZ@fu;e@laca/ ds vk/kj ij fn, x,
fodYiksa esa ls (%%) ds nkbZa vksj yqIr 'kCn@'kCn
;qXe dks pqfu,A

LVsFkksLdksi % ewfrZdkj %% \
(1) Stethoscope : Sculptor/

LVsFkksLdksi % ewfrZdkj
(2) Saw:Carpenter/vkjk c<+bZ
(3) Author: Pen/vkjk c<+bZ
(4) Warrior: Sword/;ks¼k % ryokj

16. Find the total number of
triangles in the figure.

vkÑfr esa dqy f=kHkqtksa dh la[;k Kkr dhft,A

(1) 18 (2) 24
(3) 16 (4) 26

17. Select the option figure in which
the given figure is embedded.
(rotation is NOT allowed)

ml fodYi vkÑfr dk p;u djsa ftlesa nh
xbZ vkÑfr lfUufgr gSA (jksVs'ku dh vuqefr
ugha gS)

(1) (2)

(3) (4)

18. In a certain code language,
'BOUCLE' is coded as 'AJYSKZ'.
What is the code for 'BOUDIN' in
that code language ?

,d fuf'pr dksM Hkk"kk esa] 'BOUCLE' dks
'AJYSKZ' ds :i esa dksfMr fd;k x;k gSA
ml dwV Hkk"kk esa 'BOUDIN' ds fy, dwV
D;k gS\
(1) JGGSKZ (2) JGZKSZ
(3) JGZSKZ (4) JGJSKB

19. Select the Venn diagram that

best represents the relationship
between the following classes.
Mango, Fruit, Banana

ml osu vkjs• dk p;u djsa tks fuEufyf•r
oxks± ds chp laca/ dk lcls vPNk çfrfufèkRo
djrk gSA vke]   iQy]    dsyk

(1)

(2)

(3)

(4)

20. In the following question, four
number pairs are given. In each
pair the number on the left side
of (-) is related to the number on
the right side of (-) with some
Logic/Rule Relation. Three
pairs are similar on basis of
same Logic/Rule/Relation.
Select the odd one out from the
given alternatives. (NOTE:
Operations should be performed
on the whole numbers, without
breaking down the numbers into
its constituent digits. E.g.13 -
Operations on 13 such as adding
/subtracting /multiplying etc. to
13 can be performed. Breaking
down 13 into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)

fuEufyf•r ç'u esa pkj la[;k ;qXe fn, x,
gSaA çR;sd tksM+h esa (&) ds ckbZa vksj dh
la[;k dqN rdZ@fu;e laca/ ds lkFk (&) ds
nkbZa vksj dh la[;k ls lacaf/r gSA leku
rdZ@fu;e@laca/ ds vk/kj ij rhu tksM+s leku
gSaA fn, x, fodYiksa esa ls fo"ke dks pqfu,A
(è;ku nsa% la[;kvksa dks muds ?kVd vadksa esa
foHkkftr fd, fcuk] iw.kZ la[;kvksa ij lafØ;k,¡
dh tkuh pkfg,A mnkgj.k 13 & 13 ij
lafØ;k,¡ tSls 13 esa tksM+uk@?kVkuk@xq.kk djuk
vkfn fu"ikfnr dh tk ldrh gSaA 13 dks 1 vkSj

3 esa foHkkftr djuk vkSj fiQj 1 vkSj 3 ij
xf.krh; lafØ;k,¡ djus dh vuqefr ugha gS)
(1) 13-1631 (2) 9-77
(3) 18-320 (4) 24-572

21. A series is given with one term
missing. Select the correct
alternative from the given ones
that will complete the series.

,d vuqØe fn;k x;k gS ftlesa ,d in yqIr
gSA fn, x, fodYiksa esa ls og lgh fodYi
pqfu, tks J`a•yk dks iwjk djsA
PHDT, PDVH, ?, PVFJ, PRXX

(1) PXNV (2) PZNV

(3) PZMV (4) PZNY

22. Select the option that is related
to the fourth number in the
same way as the first number
is related to the second number
and fifth number is related to
sixth number.

ml fodYi dk p;u djsa tks pkSFkh la[;k ls
mlh çdkj lacaf/r gS tSls igyh la[;k nwljh
la[;k ls lacaf/r gS vkSj ikapoha la[;k NBh
la[;k ls lacaf/r gSA
15: 210 : : ? : 90: 20: 380

(1) 10 (2) 8

(3) 18 (4) 12

23. Words given on the left side of
(::) are related with each other
by some Logic/Rule /Relation.
Select the missing word/word
pair on the right side of (::) from
the given alternatives based on
the same Logic/Rule/Relation.

(%%) ds ckbZa vksj fn, x, 'kCn vkil esa
fdlh rdZ@fu;e@laca/ ls lacaf/r gksrs gSaA
leku rdZ@fu;e@laca/ ds vk/kj ij fn, x,
fodYiksa esa ls (%%) ds nkbZa vksj yqIr 'kCn@'kCn
;qXe dks pqfu,A

Horse/?kksMk : Mare/?kksM+h :: ?

(1) Nephew/Hkrhtk: Uncle/dkdk

(2) Son/iq=k: Father/firk

(3) Brother/HkkbZ : Sister/cgu

(4) Cow/xk;: Bull/cSy
24. By interchanging which two

signs and two numbers (not
digits) the equation will be
correct?

fdu nks fpÉksa vkSj nks la[;kvksa (vadksa dks
NksM+dj) dks vkil esa cnyus ls lehdj.k
lgh gks tk,xk\
7 – 5 × 2 + 8÷ 4 = 17
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(1) - and ÷, 8 and 5

(2) × and ÷, 5 and 4

(3) + and, – 4 and 5

(4) + and, – 7 and 5

25. Pointing towards a photo of a lady,
Pawan said, "She is the sister of
my mother's daughter". How
that lady is related to Pawan?

,d efgyk dh iQksVks dh vksj b'kkjk djrs gq,
iou us dgk] "og esjh ek¡ dh csVh dh cgu gSA
og efgyk iou ls fdl çdkj lacaf/r gS\

(1) Mother/ekrk

(2) Maternal Aunt/ekSlh

(3) Sister/cgu

(4) Daughter in law/cgw

QUANTITATIVE APTITUDEQUANTITATIVE APTITUDE
1. If A = cot30° tan 60° + cot60° tan30°

then what is the value of A?

;fn A = cot30° tan 60° + cot60°

tan30° , rks A dk eku D;k gS\

(1)
1

3
(2) 10/3

(3)
10

3
(4) 1/3

2. A person borrows Rs. 20000 at
the rate of 6 percent per annum
on simple interest for 3 years.
He immediately lends it to
another person at the rate of 8.5
percent per annum on simple
interest for 3 years. What is the
value of gain per year?
,d O;fÙkQ #i;s m/kj ysrk gSA 20000 6
çfr'kr okf"kZd dh nj ls lk/kj.k C;kt ij
3 o"kZ ds fy,A og bls rqjar fdlh vU; O;fÙkQ
dks 3 o"kZ ds lk/kj.k C;kt ij 8-5 çfr'kr
okf"kZd dh nj ls m/kj ns nsrk gSA çfr o"kZ
ykHk dk ewY; D;k gS\
(1) Rs. 1500 (2) Rs. 500
(3) Rs. 800 (4) Rs. 200

3. The bar graph given below shows
the sales of bikes and cars of five
companies.

uhps fn;k x;k ckj xzkiQ ikap daifu;ksa dh
ckbd vkSj dkjksa dh fcØh dks n'kkZrk gSA
P1 = The difference between
the average sales of bikes and
average sales of cars of all 5

companies./ckbDl dh vkSlr fcØh vkSj
lHkh 5 daifu;ksa dh dkjksa dh vkSlr fcØh ds
chp dk varjA
P2 = The total value of the sales
of bikes and cars of all 5

companies./lHkh 5 daifu;ksa dh ckbd
vkSj dkjksa dh fcØh dk dqy ewY;A
What is the value of (P2-P1)/ dk
eku D;k gS?
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Bike Car

(1) 5320 (2) 4926

(3) 6100 (4) 5920

4. The cost price of 44 items is the
same as the selling price of x
items. If the polit is 10%, then
what is the value of x?

44 oLrqvksa dk Ø; ewY; x oLrqvksa ds foØ;
ewY; ds leku gSA ;fn ykHk 10» gS] rks x dk
eku D;k gS\

(1) 55 (2) 40

(3) 60 (4) 50

5. Tagen drawn for a pout X,
touches the circle at U. O is the
centre of this circle. If XU-15 am.
OU-5 cm, then what is the value
of OX?

ikmV X ds fy, •hapk x;k VSxsu] o`Ùk dks U
ij Li'kZ djrk gSA O bl o`Ùk dk dsaæ gSA
XU-15 ctsA OU&5 lseh] rks OX dk eku
D;k gS\

(1) 12 cm (2) 19 cm

(3) 21 cm (4) 17 cm

6. If (x-4), then what is the value of

(x+6)/;fn (x-4)] rks (x+6) dk eku D;k gS\?

(1) 4689 (2) 4786

(3) 5832 (4) 5778

7. A solid sphere of clameter 7 cm
is cut into two equal halves.
What will be the increase in its
total surface area?

7 lsa-eh- ds ,d brus ?ksys dks nks cjkcj Hkkxksa
esa dkVk tkrk gSA blds dqy ì"Bh; {ks=kiQy esa
fdruh o`f¼ gksxh\

(1) 77 cm2 (2) 60.5 cm2

(3) 65.5 cm2 (4) 55 cm2

8. The following histogram shows
the weekly wages of workers at
a factory. How many workers get
wages of more than Rs.200?

fuEufyf•r fgLVksxzke ,d dkj•kus esa Jfedksa
ds lkIrkfgd osru dks n'kkZrk gSA fdrus Jfedksa
dks 200 #i;s ls vf/d osru feyrk gS\
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(1) 95 (2) 85
(3) 70 (4) 80

9. Angles blended by a chord on the
case of a cule is 180 degree.
What will be the angle subter ded
by the same chood on the
curcumference of this circle?

,d thok }kjk ,d D;wy ds ekeys esa fefJr
dks.k 180 fMxzh gSA bl o`Ùk dh oØrk ij
leku pw.kZ }kjk varfjr dks.k D;k gksxk\
(1) 120 degree/fMxzh
(2) 95 degree/fMxzh
(3) 90 degree/fMxzh
(4) 45 degree/fMxzh

10. What is the value of e of 
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11. A train starts from a place S at
10:00 a.m. and arrives at another
place T at 2:30 p.m. on the same
day. If the speed of the train is 40
m/s, then what will be the
distance covered by the train?

,d Vªsu LFkku S ls iwokZgu 10%00 cts 'kq: gksrh
gS vkSj nwljs LFkku T ij nksigj 2%30 cts igq¡prh
gSA ;fn jsyxkM+h dh xfr 40 eh@ls gS] rks jsyxkM+h
}kjk r; dh xbZ nwjh fdruh gksxh\
(1) 706 km/fd-eh
(2) 648 km/fd-eh
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(3) 726 km/fd-eh
(4) 616 km/fd-eh

12. If price of rice is increased by 25
percent, then by what
percentage consumption of rice
should be decreased so that the
expenditure incurred on rice
gets decreased by 40 percent?
;fn pkoy dh dher esa 25 çfr'kr dh of̀¼
dh tkrh gS] rks pkoy dh •ir esa fdrus
çfr'kr dh deh dh tkuh pkfg, fd pkoy
ij gksus okyk O;; 40 çfr'kr de gks tk,\
(1) 52 percent
(2) 43.33 percent
(3) 42 percent
(4) 48 percent

13. Two vessels of equal capacity
contain juice and water in the
ratio of 3: 5 and 3: 1 respectively.
The mixture of both the vessels
are mixed and transferred into a
bigger vessel. What is the ratio
of juice and water in the new
mixture?
leku {kerk ds nks crZuksa esa jl vkSj ikuh
Øe'k% 3%5 vkSj 3%1 ds vuqikr esa gSaA nksuksa
crZuksa ds feJ.k dks feykdj ,d cM+s crZu esa
Mky fn;k tkrk gSA u, feJ.k esa twl vkSj
ikuh dk vuqikr D;k gS\
(1) 13:9 (2) 9:7
(3) 8:9 (4) 7:3

14. The bar graph given below shows
the mumber of eraser sold by two
shopkeepers P and Q in 5
months./uhps fn;k x;k ckj xzkiQ 5 eghus
esa nks nqdkunkjksa P vkSj Q }kjk csph xbZ bjstj
dh la[;k dks n'kkZrk gSA
Which of the following
statement is NOT correct?
fuEufyf•r esa ls dkSu lk dFku lgh ugha gS\
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210220

260260

215 230 225
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I. The ratio of total number of
eraser sold by P in J and K
to the total number of
eraser sold by Q in M and N
is 93: 98./uhps fn;k x;k ckj xzkiQ
5 eghus esa nks nqdkunkjksa P vkSj Q }kjk
csph xbZ bjstj dh la[;k dks n'kkZrk gSA

II. The difference between the
total number of eraser sold
by P and Q is 0./P vkSj Q }kjk

csps x, bjstj dh dqy la[;k ds chp dk
varj 0 gSA

(1) Only II/dsoy II

(2) Both I and II/I vkSj II nksuksa

(3) Only I/dsoy I

(4) Neither I nor II/u rks I vkSj u gh II
15. If a+b= 6 and ab= 4, then what is

the value of a3+ b3?

;fn a+b= 6 vkSj ab= 4 gS] rks a3+ b3 dk
eku D;k gS\
(1) 125 (2) 120

(3) 144 (4) 81

16. Sum of the angles made by a
chord at the centre and on the
major arc of a circle is 180
degree. What will be the angle
made at the centre of the circle?

thok }kjk o`Ùk ds dsaæ vkSj nh?kZ pki ij cus
dks.kksa dk ;ksx 180 fMxzh gksrk gSA o`Ùk ds dsaæ
ij cuus okyk dks.k D;k gksxk\
(1) 60 degree (2) 90 degree

(3) 75 degree (4) 120 degree

17. Two medians JX and KY of JKL
intersect each other at Z at right
angles. If KL = 22 cm and KY= 12
cm. then what is the length of JX?

JKL dh nks ekfè;dk,¡ JX vkSj KY ,d
nwljs dks Z ij ledks.k ij dkVrh gSaA ;fn
KL = 22 lseh vkSj KY = 12 lseh- rks JX

dh yackbZ fdruh gS\

(1) 6 19  cm (2) 3 57  cm

(3) 2 57  cm (4) 4 19  cm

18. The marked price of an item was
Rs.480 but the shopkeeper offered
a discount of 5%. At what price
does he finally sell the item?

,d oLrq dk vafdr ewY; 480 #i;s Fkk ysfdu
nqdkunkj us 5» dh NwV nhA var esa og oLrq
dks fdl dher ij csprk gS\
(1) Rs.435 (2) Rs.450

(3) Rs.466 (4) Rs.456

19. If tan + sin = A and tan - sin
= B, then what is the value of A2

- B2?

;fn tan + sin = A vkSj tan - sin

= B rks A2 - B2 dk eku D;k gksxk\
(1) tan sin

(2) 4 cot

(3) 4 tan sin

(4) 2 tan sin

20. ABC is a right angled triangle.
C = 90 degree, AB = 25 cm and

BC= 20 cm. What is the value of
sec A?

ABC ,d ledks.k f=kHkqt gSA C ¾ 90

fMxzh] AB ¾ 25 lseh vkSj BC ¾ 20 lsehA

sec A dk eku D;k gS\

(1) 5/3 (2) 4/5

(3) 4/3 (4) 5/4

21. The average marks obtained by

80 students in an examination is

50. If the average marks of passed

students is 55 and the number of

students who failed the

examination are 30, then what is

the average marks of students

who failed the examination?

,d ijh{kk esa 80 Nk=kksa }kjk çkIr vkSlr vad

50 gSA ;fn mÙkh.kZ Nk=kksa ds vkSlr vad 55 gSa

vkSj ijh{kk esa vuqÙkh.kZ gksus okys Nk=kksa dh

la[;k 30 gS] rks ijh{kk esa vuqÙkh.kZ Nk=kksa ds

vkSlr vad D;k gSa\
(1) 41.66 (2) 46.66

(3) 40.33 (4) 52.33

22. To complete a wall, X takes 50

percent more time than Y. If

together they complete the wall

in 15 days, then how much time

will X alone take to complete it?

,d nhokj dks iwjk djus esa X] Y ls 50 çfr'kr

vf/d le; ysrk gSA ;fn nksuksa feydj nhokj

dks 15 fnuksa esa iwjk djrs gSa] rks X vdsyk mls

iwjk djus esa fdruk le; ysxk\
(1) 36.5 days (2) 42.5 days

(3) 37.5 days (4) 40 days

23. The below bar graph shows the

mumber of toys sold by five

different shops (ie., A, B, C, D

and E) in the first week and

second week.

uhps fn;k x;k ckj xzkiQ igys lIrkg vkSj

nwljs lIrkg esa ikap vyx&vyx nqdkuksa (;kuh]

A, B, C, D vkSj E) }kjk csps x, f•ykSuksa

dh la[;k dks n'kkZrk gSA
Find the ratio of the total

number of toys sold by shops A.

B and C in the first week to the

number of toys sold by shops C.

D and E in the second week.

igys lIrkg esa nqdkuksa A] B vkSj C }kjk csps

x, f•ykSuksa dh la[;k dk nwljs lIrkg esa

nqdkuksa C, D vkSj E }kjk csps x, f•ykSuksa

dh la[;k ls vuqikr Kkr dhft,A
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24. Which of the following
statement is true?/fuEufyf•r esa ls
dkSu lk dFku lR; gS\

I.
5

11
 > 

5

6

II.
5

9
 > 

8

9

III.
5

6
 > 

4

5

(1) Only III/dsoy III
(2) Both I and II/I vkSj II nksuksa
(3) Only II/dsoy II
(4) Only I/ dsoy I

25. What is the sum of all two digit
numbers which are divisible by 9?
nks vadksa dh lHkh la[;kvksa dk ;ksx D;k gS tks
9 ls foHkkT; gSa\
(1) 565 (2) 535
(3) 585 (4) 475

GENERAL AWARENESS
1. Which among the following is

the highest peak of Andaman
and Nicobar Islands?/fuEufyf•r esa
ls dkSu&lh vaMeku vkSj fudksckj }hi lewg
dh lcls Å¡ph pksVh gS\
(1) Deomali/nsoekyh
(2) Saddle/dkBh
(3) Phawngpui/iQkSaxiqbZ
(4) Kalsubai/dylqckbZ

2. Which of the following provision
of the Indian constitution is not
borrowed from the constitution
of Britain?/Hk kjrh; l a fo/ku ds
fuEufyf•r esa ls dkSu lk çko/ku fczVsu ds
lafo/ku ls m/kj ugha fy;k x;k gS\
(1) Fundamental Rights/ekSfyd

vf/dkj
(2) Legislative procedure/fo/k;h

çfØ;k

(3) Bicameralism/f}lnuh;rk
(4) Rule of law/dkuwu dk 'kklu

3. Certain plants have green and
tender stems. They are usually
short and may not have many
branches. What are they called as?

dqN ikS/ksa ds rus gjs vkSj dksey gksrs gSaA os vke
rkSj ij de gksrs gSa vkSj mudh dbZ 'kk•k,¡ ugha
gks ldrh gSaA mUgsa D;k dgk tkrk gS\
(1) Herbs/tM+h cwVh
(2) Shrubs/>kfM+;k¡
(3) Trees/isM+
(4) Creepers/jsaxus okys

4. On learning about the
Jallianwala Bagh massacre,
anger of the country by
renouncing his knighthood./
tfy;kaokyk ckx gR;kdkaM ds ckjs esa tkuus ij]
viuh ukbVgqM dk vokMZ dk O;; fd;kA
(1) Dadabhai Naoroji/nknkHkkbZ ukSjksth
(2) Badruddin Tyabji/cn#íhu

rS;cth
(3) Rabindranath Tagore/johaæukFk

VSxksj
(4) Surendranath Banerji/

lqjsaæukFk cuthZ
5. A megabyte (MB) consists of

1024/ ,d esxkckbV (MB) esa 1024 gksrs gSa
(1) Gigabytes/xhxkckbV~l
(2) Kilobytes/fdyksckbV
(3) Terabytes/VsjkckbV~l
(4) Bytes/ckbV~l

6. Which of the following pairs of
"term - definition" is correct?/
"'kCn & ifjHkk"kk dk fuEufyf•r ;qXeksa esa ls
dkSu lk lgh gS\
I. Strait - a narrow strip of land

joining two landmasses/
tyMe:eè; & Hkwfe dh ,d ladjh iêðh
tks nks HkwHkkxksa dks tksM+rh gS

II. Isthmus - a narrow passage
of water connecting two
large water bodies/
LFkyMe:eè; & nks cM+s tyk'k;ksa dks
tksM+us okyk ladjk ekxZ

(1) Only II/dsoy II
(2) Both I and II/I vkSj II nksuksa
(3) Neither I nor II/u rks I vkSj u gh II
(4) Only I/dsoy I

7. Which of the following is NOT a
play written by Shakespeare?/
fuEufyf•r esa ls dkSu lk 'ksDlfi;j }kjk
fyf•r ukVd ugha gS\
(1) Antony and Cleopatra/,aVuh

vkSj fDy;ksisVªk

(2) The Comedy of Errors/n
dkWesMh vkWiQ ,jlZ

(3) The Candlestand/nhiknku
(4) Othello/vksFksyks

8. In MS-Excel 365 which of the
following shortcut is used to copy
the contents and format of the
topmost cell of a selected range

into the cells below?/MS-Excel

365 esa fuEu esa ls fdl 'kkWVZdV dk mi;ksx
fdlh p;fur jsat ds lcls Åijh lsy dh
lkexzh vkSj çk:i dks uhps ds lsy esa dkWih
djus ds fy, fd;k tkrk gS\
(1) Alt + D (2) Ctrl + D
(3) Alt + C (4) Ctrl + C

9. Which dance is performed by

women of Maharashtra?/egkjk"Vª dh
efgykvksa }kjk dkSu lk ùR; fd;k tkrk gS\
(1) Ghoomer dance/?kwej u`R;
(2) Bihu dance/fcgw u`R;
(3) Lavani dance/yko.kh u`R;
(4) Bhangra dance/HkkaxM+k u`R;

10. Which article of the Indian
constitution is related with the
special provision with respect to
the States of Maharashtra and

Gujarat?/Hkkjrh; lafo/ku dk dkSu lk
vuqPNsn egkjk"Vª vkSj xqtjkr jkT;ksa ds laca/
esa fo'ks"k çko/ku ls lacaf/r gS\
(1) Article/vuqPNsn 371

(2) Article/vuqPNsn 386

(3) Article/vuqPNsn 377

(4) Article/vuqPNsn 380

11. What is the Pradhan Mantri

Mudra Yojana?/ç/kuea=kh eqæk ;kstuk
D;k gS\
(1) A loan Scheme/,d ½.k ;kstuk
(2) A scheme for free medi-

cines/eqÝr nokvksa dh ;kstuk
(3) An insurance Scheme/,d

chek ;kstuk
(4) An employment Scheme/,d

jkstxkj ;kstuk
12. The 'Karmayoddha Granth' book

was released by which of the

following politician?/'deZ;ks¼k xzaFk'
iqLrd dk foekspu fuEufyf•r esa ls fdl
jktusrk us fd;k Fkk\
(1) Amit Shah/vfer 'kkg
(2) Rahul Gandhi/jkgqy xka/h
(3) Nitin Gadkari/fufru xMdjh
(4) Smriti Irani/Le`fr bZjkuh
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13.Which of the following is the
largest peninsular river in

India?/fuEufyf•r esa ls dkSu lh Hkkjr dh
lcls cM+h çk;}hih; unh gS\

(1) Krishna/Ñ".k

(2) Godavari/xksnkojh

(3) Kaveri/dkosjh

(4) Mahanadi/egkunh
14. Which of the following pairs of

'elements valency' is correct?

fuEufyf•r esa ls 'rRo la;kstdrk' dk dkSu lk
;qXe lgh gS\

I. Boron/cksjkWu - 2

II. Fluorine/Ýyksjhu - 3

(1) Neither I nor II/u rks I vkSj u gh II

(2) Both I and II/I vkSj II nksuksa

(3) Only II/dsoy II

(4) Only I/dsoy I
15. Which of the following

assumptions is made to
determine the level of aggregate
demand for final goods in the

economy?/vFkZO;oLFkk esa vafre oLrqvksa
dh dqy ekax ds Lrj dks fu/kZfjr djus ds
fy, fuEufyf•r esa ls dkSu lh /kj.kk cukbZ
xbZ gS\
I. A constant final goods price

and constant rate of
interest over short run are

assumed./,d fLFkj vafre eky
dh dher vkSj vYikof/ esa C;kt dh
fLFkj nj eku yh tkrh gSA

II. The aggregate supply is
assumed to be perfectly

elastic./dqy vkiwfrZ dks iwjh rjg
ls ykspnkj ekuk tkrk gSA

(1) Only II/dsoy II

(2) Only I/dsoy I

(3) Neither I nor II/u rks I vkSj u gh II

(4) Both I and II/I vkSj II nksuks
16. Who among the following Indian

athletes won a Gold medal in
2022 Common Wealth Games?/

fuEufyf•r esa ls fdl Hkkjrh; ,FkyhV us
2022 jk"VªeaMy •syksa esa Lo.kZ ind thrk\

I. Saurav Ghosal/lkSjo ?kks"kky
II. Anshu Malik/va'kq efyd

(1) Only I/dsoy I

(2) Both I and II/I vkSj II nksuksa

(3) Neither I nor II/u rks I vkSj u gh II

(4) Only II/dsoy II

17. Which of the following pairs of
"sports - medal" is correct
regarding performance of India
in 2020 Tokyo Olympic Games?

2020 VksD;ks vksyafid •syksa esa Hkkjr ds
çn'kZu ds laca/ esa "•sy & ind" dh dkSu
lh tksM+h lgh gS\
I. Javelin Throw/tsofyu Fkzks - Sil-

ver/flYoj
II. Men's Hockey/iq#"kksa dh gkWdh -

Gold/xksYM
(1) Only II/dsoy II
(2) Neither I nor II/u rks I vkSj u gh II
(3) Both I and II/I vkSj II nksuksa
(4) Only I/dsoy I

18. The book titled 'The Immortals

of Meluha' is written by/n bEeksVZYl
vkWiQ esyqgk uked iqLrd fdlds }kjk fy•h
xbZ gS
(1) Sushil Kumar/lq'khy dqekj
(2) Devdutt Pattanaik/nsonÙk iVuk;d
(3) Amish Tripathi/veh'k f=kikBh
(4) Chetan Bhagat/psru Hkxr

19. Ain-i Akbari, a document on life
of Mughal ruler Akbar does not

contain information about/eqxy
'kkld vdcj ds thou ij ,d nLrkost
vkbZu&, vdcjh ds ckjs esa tkudkjh ugha gS
(1) Revenues/jktLo
(2) Ancestors/iwoZt
(3) Army/lsuk
(4) Administration/ç'kklu

20. Which of the following
statements is/are NOT correct?/

fuEufyf•r esa ls dkSu lk@ls dFku lgh ugha
gS@gSa\
I. The property of metals by

which they can be beaten
into thin sheets is called

malleability.//krqvksa dk og xq.k
ftlds }kjk mUgsa ihVdj iryh pknj
esa cnyk tk ldrk gS vk?kkro/Zuh;rk
dgykrh gSA

II. The property of metal by
which it can be drawn into

wires is called ductility.//krq
dk og xq.k ftlds }kjk mls •hapdj rkj
cuk;k tk ldrk gS] rU;rk dgykrh gSA

(1) Neither I nor II/u rks I vkSj u gh II
(2) Both I and II/I vkSj II nksuksa
(3) Only I/dsoy I
(4) Only II/dsoy II

21. Chandigarh International
Airport has been renamed as/

paMhx<+ varjjk"Vªh; gokbZ vîós dk uke
cnydj D;k j•k x;k gS
(1) Manmohan Singh

International Airport/eueksgu
flag varjkZ"Vªh; gokbZ vîók

(2) Shaheed Bhagat Singh

International Airport/'kghn
Hkxr flag varjkZ"Vªh; gokbZ vîók

(3) Guru Gobind Singh

International Airport/x q#
xksfcan flag varjkZ"Vªh; gokbZ vîók

(4) Rajguru International

Airport/jktxq# varjkZ"Vªh; gokbZ vîók
22. The Sattriya dance form

originated in which of the

following Indian States?/lfÙj;k
u`R; 'kSyh dh mRifÙk fuEufyf•r esa ls
fdl Hkkjrh; jkT; esa gqbZ Fkh\
(1) Assam/vle
(2) Tamil Nadu/rfeyukMq
(3) Uttar Pradesh/mÙkj çns'k
(4) Manipur/ef.kiqj

23. India has won 8 olympic gold
medals in which sport till 2020?/

Hkkjr us 2020 rd fdl •sy esa 8 vksyafid
Lo.kZ ind thrs gSa\
(1) Boxing/ckWfDlax
(2) Field Hockey/iQhYM gkWdh
(3) 10m air rifle/10 ehVj ,;j jkbiQy
(4) Wrestling/dq'rh

24. As of 2022, there are______
Union Territories of India.

2022 rd] Hkkjr ds ______ dsaæ 'kkflr
çns'k gSaA
(1) 10 (2) 9
(3) 7 (4) 8

25. The curve giving the maximum
amount of corn that can be
produced in the economy for any
given amount of cotton and vice-
versa. This curve is called the

dikl dh fdlh Hkh ek=kk ds fy, vkSj blds
foijhr vFkZO;oLFkk esa mRikfnr edbZ dh
vf/dre ek=kk dks n'kkZus okyk oØA bl
oØ dks dgk tkrk gS
(1) Total revenue curve/dqy jktLo oØ
(2) Indifference curve/mnklhurk oØ
(3) Production possibility  fron-

tier/mRiknu laHkkouk lhek
(4) Demand curve/ekax oØ


